Math 099 - Spring 2011 - Test 4

ey
Instructor: Dr. Francesco Strazzullo Name

Instructions. Only calculators are allowed on this examination. Point values of each problem are indicated

Always use the appropriate wording and units of measure in your answers (when applicable)
SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

1. (20pts) A dieter is allowed 140 calories for a snack. Apricots contain 20 calories each, and tangerines

contain 35 calories. She wants no more than 2 tangerines for a snack. Let £ = the number of apricots
and y = the number of tangerines for a snack.

(a) Write a system of linear inequalities to describe the possible numbers of each items the dieter can
eat.

(b) Graph and show the solutior}q set. Label the corner point.
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2. (15pts) Graph and show the solution set and label the corner point for the system of inequalities
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3. (7pts) Combine like terms of the following polynomlal Arrange the terms alphabetically, with expo-
nents on the ﬁrst variable in descending order.
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4. Expand the following polynomials and combine like terms: |
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5. Simplify the following expressions. Leave your answer without denominators.
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